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^01& Read the following questions and select the suitable answers.

^1& What is not an example for computer hardware from the following examples?

(i) Monitor (ii) Operating System (iii) Mouse (iv) Keyboard

^2& How many symbols used in decimal Number system ?

(i) 2 (ii) 8 (iii) 9 (iv) 10

^3& Which of the following symbol represent the action, cancelation((undo) in a word processing
application?

(i) (ii) (iii) (iv)

^4& Select the answer which does not state the property of a file in a computer?

(i) Type of the file (ii) Size of the file

(iii) computer size of the file created (iv) save place of the file

^5& If the steps from begining to the end of algorithm are carried out in a strict order,called a............... .

(i) sequence (ii) selection (iii) Repetition (iv) Iteration

^3 x 5} 15 marks&

^02& Fill in the blanks by choosing the correct answer from the brackets.

(i) Number 56 belongs to…………………………… number system (Binary,Octal).

(ii) ...................... port used to connect mouse and keyboard to the computer. (USB, RJ45)

(iii) ……………………….. is a tool which used to align a paragraph in a word processing application.

(Center, Italic)

(iv) ...............................is the input,in a process of buying breakfast from a canteen (Money, Food)

(v) An example for search engine is ……………………………………….(Google Chrome, Yahoo).

^3 x 5} 15 marks&
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^03& Consider the following statements. Mark whether the following statements are correct ' 3' or incorrect 'x'.

(i) Drawn camera is a mobile and smart device. ^ &

(ii) Microsoft Word software can be used to type a letter. ^ &

(iii) “The mouse is not working properly” is a software error. ^ &

(iv) (   ) symbol used to symbolize HTML tag' ^ &

(v) By using Tablet computer,cannot be conncted to the Internet. ^ &

^3 x 5} 15 marks&

^04& Match column “A” with column “B”.

“A”    “B”

(i) web browser.

(ii) Input device.

(iii) Computer port.

(iv) Symbol of a flowchart.

(v) Output device.

^3x 5} 15 marks&
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^05& Answer the following questions.

(i) Name and draw the 03 basic logic gates. ^06 marks&

'''''''''''''''''''''''''''''''''''''''''''' '''''''''''''''''''''''''''''''''''''''''''' '''''''''''''''''''''''''''''''''''''''

(ii) Write down two functions which can be done through the internet. ^04 marks&

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

(iii) Convert the 
 
binary number  101

2 
in to a decimal number. ^04 marks&

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

(iv) Read the given problem senario and identify input, process and output. write down those input,process

and output separately. ^02 x 3 } 06 marks&

problem – Addition of 5 and 10

Input ( ''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

Process ( ''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

Output ( ''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

^06& (i)  State the use of HTML language?  

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

(ii) Give an example for a web site. 

''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

^02 x 3 } 06 marks&
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4

^1& ''''''''''''''''''''''''''''''''''''''''''''' ^2& ''''''''''''''''''''''''''''''''''''''''''''' ^3& '''''''''''''''''''''''''''''''''''''''''''''

^4& ''''''''''''''''''''''''''''''''''''''''''''' ^5& ''''''''''''''''''''''''''''''''''''''''''''' ^6& '''''''''''''''''''''''''''''''''''''''''''''

^7& ''''''''''''''''''''''''''''''''''''''''''''' ^02 x 7} 14 marks&

Grade 8-Information and communication Technology-NWP

(iii) Select and write down the suitable HTML tags from the given brackets which used to create  the

following web page.

^ < p > ,< h > , < ul >, < ol >, < b > , < I > ,< u >, < img src = "   "> , < title >  &
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Answer

^01& ^1& (ii)

^2& (iv)

^3& (i)

^4& (iii)

^5& (i) ^,l=Kq 3 x 5} 15&

^02& (i) wIaguh

(ii) USB

(iii) Center

(iv) uqo,a

(v) Yahoo ^,l=Kq 3 x 5} 15&

^03& (i)

(ii)

(iii) x

(iv) x
(v) x ^,l=Kq 3 x 5} 15&

^04& (i)

(ii)

(iii)

(iv)

(v)

^,l=Kq 3 x 5} 15&

^05& (i)

^,l=Kq 2 x 3} 06&

(ii) .e<fmk ms<s;=re i|yd ,l=Kq ,ndfokak'

^,l=Kq 2 x 2} 04&

(iii)   1012

=(22x1)+(21x0)+(20x1)=5

^,l=Kq 2 x 2} 04&

(iv) wdodkh ( 5 iy 10 b,lalï fol"

ls%hdj,s  : 5 + 10

m%;sodkh ( 15

^,l=Kq 2 x 3} 06&

^06& (i) fjí msgq ks¾udKh i|yd ^,l=Kq 3&

(ii) iqÿiq ms<s;=rla i|yd ,l=Kq ,nd fokak'

^,l=Kq 3&

(iii) ^1& <h>

^2& < img src = ”  ”>

^3& <u>

^4& <I>

^5& <b>

^6& <p>

^7& <ul>

^,l=Kq 2 x 7} 14&
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